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(Examinee write answer in their own words as far as practicable.)

T ToAT T HEAT 19 B

(The total number of questions is 19)

T HEAT 1 8 T €T 7 T ATATALALN T g | 39 & bt = 0 o 3w &t
TS W T /I 2 3 Feifa g

(Question number 1 to Question number 7 is very short answer type questions.
Answer any five of these questions. Each question carries 2 marks.)

T ST 8 & T HEAT 14 T AL TT &1 38 | [oheal 5 TAT 6 I IS0 T T4
T A 3 3 AaTha g

(Question number 8 to Question number 14 is short answer type questions. Answer
any five of these questions. Each question carries 3 marks.)

ToF FEAT 15 | T TEAT 19 TF SrasaiiT TF &1 T8 o Fheal 19 W41 & 3¢ AT
T ToT T T 5 30 (e gl

(Question number 15 to Question number 19 is long answer type questions. Answer
any Three of these questions. Each question carries 5 marks.)

SECTION -A (2X5=10)

QL. TF TS F I FIT 110°, 70° S 90° &1 THHT F AT FHI07 T H |
Three angles of a quadrilateral are 110°, 70° and 90°. Find its fourth angle.

Q2.3fd § T FIT L BOC=60° T, TT 2 BAC T HTH AT &< |
In figure, if £ BOC=60°, then find value of 2BAC.



Q3.U= &t g Toheor & Irf¥a foreg % 30° & &0y it 7=+ FHirforu)
Construct an angle of 30° at the initial point of a given ray.
Q4.@3WWWWWWW 18 cm 3T 10 cm 3T 42 cm %’|
Find the area of a triangle, whose sides are 18 cm, 10 cm and 42 cm.
Q5. ATFET 10, 7, 13, 20 3T 15 T TTLT AT 1 |
Find the mean of 10, 7, 13, 20 and 15.
Q6.4 =T 4,6,5,9,3,2,7,7,6,5,4,9,10,4,3, 6, 9 3T 9 T TgeTeh AT I ToIT)
Find the mode of data: 4,6,5,9,3,2,7,7,6,5,4,9,10,4,3, 6 and 9.

Q7. U ke 9 | U AT FToctarst el T 40 AT H 10 T AT FTLAT & | 1T 7 TIL ST 6T
STTRAT AT I |

In a cricket match a batswoman hits a boundary 10 times out of 40 balls she plays. Find the
probability that she did not hits a boundary.

SECTION-B (3X5=15)
Q8.frg #¢ FoF uar g Aqelsr & fareot v g@e v quigar Fear 2
Prove that the diagonals of a parallelogram bisect each other.

Q9. 1= faw U f=r=1 & ABCD U THIAY A3l & oraH AEL DC @91 CFL AD §| o< AB=16cm,AE=8
cm 3T CF=10cm T a7 AD T | FTd &Y |

In the Figure given below, ABCD is a parallelogram, AEL DC and CFLAD. IF AB= 16 cm, AE=8 cm
and CF=10cm then find AD.
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Q10. forg FforT o g7 3 STrameil 5T s U it 107 S7a¥ g1 T Starat 7 dars I9eq< a¥re< gt
2l

Prove that if the angles subtended by the chords of a circle at the centre are equal, then the chords
are equal.

Q11. 3&fd & IfT £ ABC =69° 79T 2 ACB=31° g, a2 BDC FT AT ATd 7 |
In figure, if 2 ABC=69° and 2 ACB=31°, then find 2BDC.
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Q12.U% Fag! &1H GIXT {1 il Ueh J@AT § I U 3 39 T &
17,2,7,27,15,5,14, 8,10, 24, 48, 10, 8, 7, 18, 28.

%

SARET T TTEAH FATq Y |

The points scored by a kabaddi team in a series of matches are as follows:

17,2,7,27,15,5, 14, 8, 10, 24, 48, 10, 8, 7, 18, 28.

Find the median of this data.
Q13.7Tg o 3Me & g A1, orH & W a2 5 Tt sifena o, 7 areaq § [Maforad 9 (kg ®) o
4.97,5.05,5.08, 5.03, 5.00, 5.06, 5.08, 4.98, 5.04, 5.07, 5.00
TAH H ATg e =T F I T T @ a1 H 5 BT & tfers A g il TEsar a Hif)|

Eleven bags of wheat flour, each marked 5 kg, actually contained the following weights of flour
(in kg):

4.97,5.05, 5.08, 5.03, 5.00, 5.06, 5.08, 4.98, 5.04, 5.07, 5.00

Find the probability that any of these bags chosen at random contains more than 5 kg flour.



Q14. == fEat =7 U AT 200 T IHTAT ITAT & TAT 27 fAfs qRomai it aramand F &

Three coins are tossed simultaneously 200 times with the following Frequencies of different
outcomes:

T 3 3t 1fa 0 o
(Outcome) (3 heads) (2 heads) (1 head) (0 head)
EIRGIES] 23 72 77 28
( Frequency)

v o o e =g oft = A e A griEear st e

Then compute the probability of 3 heads and no head coming up.

SECTION- C (5X3=15)

Q15. firg % i Breger 1 21 gt 3 wer-Rfgsit i frem aver vamde
Y ST F FHTATAL BT 2 |
Prove that the line segment joining the mid-points of two sides of a triangle
is parallel to the third side.
Q16. 3T ABC ®, E HTfE7aT AD T #eg-Taig g1 39170 f ar (BED) =1/4 ar (ABC)z|

In triangle ABC, E is midpoint of median AD. Show that ar (BED) =1/4 ar (ABC).

Q17.u= st ABC it 7= #itfory, fSre# BC=8 cm, £ B= 45°, 3T AB- AC= 3.5 cm 2Tl
Construct a triangle ABC in which BC=8cm, « B =45° and AB - AC= 3.5 cm.

Q18. U= AT @ AT ST T AT 12:17:25 3T IHHT TRATT 540 cm 2| 38 @S FT &AHA
T |

Sides of a triangle are in the ratio of 12:17:25 and its perimeter is 540 cm. Find its area.

Q19. AHforfea AtFeT | U avfihd aTeaTedr sad qTuit a=TU {SrHahT 3 Saerd
30-40, 40-50 iz T




455530110751004060654010075707060707060958580 354540 50 60
655545 3090.

Construct a grouped frequency distribution table in which the class intervals are 30-40, 40-50 etc.:

45553011075 10040 60 654010075707060707060958580354540506065554530
90.



